hrtp://l30.149.60.45/~farbmetr|k/5561/5561LON1.TX'IV' 1.PS; comience Igalida -
N: ninguna 3D-linealizacién (OL) en archivo (F) o PS-startup (S), pagina 1/1
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SSE10-7N, Test chart vith 1080 standard colours; digial equidistant 0 siep hue and achromatic scales: luminance faloY maaguTormalizedy = Yvi= 100; for low glossy LECD Gisplay, page /L display type: LCED_low_gloss_100828_1

gréfico TUB-SS61; colorimetric display system entradaw/rgb/cmyk —> w/rgb/cmyk
LECD: rgb, x,y and Ym & Yn (n=normalized=100) salida: ningin cambio
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